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_Ms can answer questions involving numeric properties
-or example “When was Karl Popper born?”

How is this knowledge represented inside the LM?
We find monotonic representations of numeric properties
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here are directions in activation space that correlate with
the value of numeric properties
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By activation patching along such directions, LM output
changes accordingly
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Property Prop. ID Entity Entity ID Prompt Value Unit
birthyear P569 Nina Foch Q235632 In what year was Nina Foch born? 1924  annum
death year P570 Johannes R. Becher Q58057 In what year did Johannes R. Becher die? 1958 annum
population P1082 Akhisar Q209905 What is the population of Akhisar? 173026 1
evelation P2044 Sondrio Q6274  How high is Sondrio? 360 metre
longitude P625.long Korean Empire Q28233 What is the longitude of Korean Empire? 126.98 degree
latitude  P625.lat  Kisnacht Q69216 What is the latitude of Kiisnacht? 47.32 degree




